### BID RESULTS

#### AB2019-39 SHUTTLE SERVICE AT THE TRENTON-MERCER AIRPORT

## **BID OPENING: SEPTEMBER 17, 2019**

CONTRACT TERM: ONE YEAR WITH THE OPTION TO EXTEND ONE YEAR; SERVICE SHALL BE PROVIDED 7 DAYS A WEEK; AWARDED BASED ON HOURLY RATE; AWARDED VENDOR WILL GET A THREE HR MIN.

ICE INC			
ICE INC			
STOUT'S CHARTER SERVICE, INC.			
:T			
638			
125			
RTATION.COM			
ΓED			
ΓED			
ΓED			
ſED			
red .			
5. 20			
T REVIEW PRIOR			
INCLUDED AIRPORT TO REVIEW			
YES			
89.00			
NONE			
NO			

### RFP2019-02 FOR ENGINEERING SERVICES FOR THE MERCER COUNTY GREAT WESTERN BIKEWAY (GWB)

	PROPOS	SAL OPENING:SEPTEMBER 18,2019			
PROPOSALS WILL BE REVIEWED BY A EVALUATION COMMITTEE BASE ON THE CRITERIA IN RFP/FEDERAL REQUIREMENTS					
NUMBER OF RESPONDENTS	4				
NAME OF RESPONDENT	MICHAEL BAKER INTERNATIONAL	TML	FRENCH& PARELLO ASSOCIATES,PA	NV5, INC.	
ADDRESS	300 AMERICAN METRO BLVD., SUITE 154	1200 LENOX DRIVE, SUITE 101	1800 ROUTE 130 SUITE 101	7 CAMPUS DRIVE, SUITE 300	
CITY, STATE, ZIP	HAMILTON, NJ 08619	TRENTON, NJ 08648	WALL, NJ 07719	PARSPIPPANY, NJ 07054	
CONTACT	MICHAEL J. HALL	brian J.strizki	JAMES B. HELLER	JAMES E. HUSELTON	
TELEPHONE	973-776-7428	609-512-3900	732-312-9800	973-946-5653	
FAX	609-807-9550	609-512-3945	732-312-9801	973-984-5421	
EMAIL	MICHAEL.HALL@MBAKERINTL.COM	BSTRIZKI@JMT.COM	BSTRIZKI@JMT.COM JAMES.HELLER@FPAENGINEER.COM		
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
ADDENDUM NO.TWO	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
NARRATIVE STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
IRAN DISCLOSURE FORM	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
DBE/ESBE REQUIREMENTS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
KEY PERSONNEL/RESUMES	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
SUBCONSULTANTS	CHURCHILL CONSULTING ENGINEERS, P.C./BRC OK/NJ DOT PRE.QUALIFIED EXPIRES 9.13.20  IMPERIAL TRAFFIC& DATA CO		AMY S. GREENE ENVIRONMENTAL CONSULTANTS, INC./NJ DOT PRE.QUALIFIED EXPIRES 1.8.20/BRC OK	AMERCOM CORPORATION/ NJ DOT PRE.QUALIFIED EXPIRES 11.28.19/BRC OK	
		STOKES CREATIVE GROUP, INC./BRC OK	FITZGERALD & HALLIDAY INC./BRC OK	GEOD CORPORATION/NJ DOT PRE.QUALIFIED EXPIRES 10.17.19/BRC OK	
		VAN NOTE HARVEY ASSOCIATES/BRC OK	GEOD CORPORATION/NJ DOT PRE.QUALIFIED EXPIRES 10.17.19/BRC OK		
		MCMAHON ASSOCIATES, INC. /NJ DOT PRE.QUALIFIED EXPIRES 5.28.21/BRC OK			
NJ DOT PREQUALIFICATION	YES, EXPIRES 3.12.2020	YES, EXPIRES 10.31.2020	YES, EXPIRES 9.17.2020	YES,EXPIRES 1.15.2021	
PROJECT REFERENCES	INCLUDED EVALUATION TEAM TO REVIEW	INCLUDED EVALUATION TEAM TO REVIEW	INCLUDED EVALUATION TEAM TO REVIEW	INCLUDED EVALUATION TEAM TO REVIEW	
AFFIRMATIVE ACTION/ EIC	4498 EXPIRES 3.15.22	40100 EXPIRES 6.15.20	7359 EXPIRES 4.15.22	551 EXPIRES 8.15.21	
NON-COLLUSION AFFIDAVIT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED/PROPOSED MODIFICATION TO LANGUAGE IF AWARDED INSURANCE WILL HAVE TO REVIEW	SIGNED AND DATED SIGNED AND DATED		SIGNED AND DATED	
STATEMENT OF OWNERSHIP DISCLOSURE	SIGNED AND DATED	SIGNED AN DATED	SIGNED AND DATED	SIGNED AND DATED	
HOLD BEYOND 60 DAYS	YES	YES	YES	YES	
NJ BUSINESS REGISTRATION CERTIFICATE	ОК	OK	OK	OK	

# **BID RESULTS**

## AB2019-43 MERCER MEADOWS UPLAND TRAIL IMPROVEMENTS AT VARIOUS LOCATIONS

BID OPENING DATE: SEPTEMBER 19,2019							
BIDS RECEIVED	1						
NAME OF BIDDER	MOUNT CONSTRUCTION CO.INC.						
ADDRESS	427 S. WHITE HORSE PIKE						
CITY, STATE, ZIP	BERLIN, NJ 08009						
CONTACT	MICHAEL MAZZERELLA						
TELEPHONE	856 768 8493						
FAX	856 753 1453						
E-MAIL	MMAZZARELLA@MOUNTCONSTRUCTION.COM						
ADDENDUM NO ONE	SIGNED AND DATED						
BID BOND	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K						
CONSENT OF SURETY	R.H SHEPHERD, JR. AIF WITH POA						
INSURANCE CERTIFICATE	REQUIRED IF AWARDED						
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED						
IRAN CERT	SIGNED AND DATED						
PREVAILING WAGE CERTIFICATION	OK						
STATEMENT OF OWNERSHIP DISCLOSURE	SIGNED AND DATED						
EXHIBIT B	INCLUDED						
AA201 FORM	REQUIRED IF AWARDED						
PW CONTRACTOR REG.	605531 EXPIRES 6.5.20						
NEW JERSEY BUSINESS REGISTRATION	OK						
NON-COLLUSION	SIGNED AND DATED						
SAFETY CERT	SIGNED AND DATED						
EQUIPMENT CERT	SIGNED AND DATED						
THREE REFERENCES	INCLUDED PC TO REVIEW						
HOLD PRICING BEYOND 60 DAYS	YES						
TOTAL BID AMOUNT	\$791,614.03						
EXCEPTIONS	NONE						
FATAL FLAW	NO						

	AB2019-43 PROPOSAL				MOUNT CONSTRUCTION		
Item No.	Description	Quantity	Unit		UNIT COST	TOTAL	COST
2	FURNISH, INSTALL MAINTAIN AND REMOVE STABILZED CONSTRUCTION ENTRANCE	1098	SY	\$	25.00	\$	27,450.00
3	FURNISH, INSTALL MAINTAIN AND REMOVE SILT FENCING	31203	LF	\$	0.01	\$	312.03
4	FURNISH, INSTALL MAINTAIN AND REMOVE STOCKPILING	1334	CY	\$	25.00	\$	33,350.00
5	FURNISH, INSTALL AND MAINTAIN EROSION CONTROL MATTING	868	SY	\$	5.00	\$	4,340.00
6	FURNISH AND INSTALL RIP RAP	48	CY	\$	250.00	\$	12,000.00
7	FURNISH AND INSTALL SCOUR HOLES	11	CY	\$	900.00	\$	9,900.00
8	TOPSOIL STRIPPING	1334	CY	\$	15.00	\$	20,010.00
9	FURNISH AND INSTALL PLUGS, COMPLETE	1122	SY	\$	10.00	\$	11,220.00
10	FURNISH AND INSTALL SEEDING COMPLETE	45.5	MSF	\$	300.00	\$	13,650.00
11	FURNISH AND INSTALL MEADOW VEGETATION, COMPLETE	8	MSF	\$	500.00	\$	4,000.00
12	FURNISH AND INSTALL CONCRETE (4"THICK) COMPLETE	168	SY	\$	100.00	\$	16,800.00
13	FURNISH AND INSTALL 24" HEADWALL COMPLETE	2	EA	\$	6,000.00	\$	12,000.00
14	FURNISH AND INSTALL 24" RCP PIPE COMPLETE	12	LF	\$	200.00	\$	2,400.00
15	FURNISH AND INSTALL 20" HEADWALL COMPLETE	2	EA	\$	4,000.00	\$	8,000.00
16	FURNISH AND INSTALL 20" RCP PIPE COMPLETE	12	LF	\$	75.00	\$	900.00
17	FURNISH AND INSTALL 12" HEADWALL COMPLETE	2	EA	\$	4,000.00	\$	8,000.00
18	FURNISH AND INSTALL 12" RCP PIPE COMPLETE	12	LF	\$	125.00	\$	1,500.00
19	FURNISH AND INSTALL 10" HEADWALL COMPLETE	26	EA	\$	3,750.00	\$	97,500.00
20	FURNISH AND INSTALL 10" HDPE DRAINAGE PIPE COMPLETE	110	LF	\$	150.00	\$	16,500.00
21	FURNISH AND INSTALL 8" HDPE DRAINAGE PIPE COMPLETE	24	LF	\$	100.00	\$	2,400.00
22	FURNISH AND INSTALL 10" DUCTILE IRON PIPE COMPLETE	50	LF	\$	150.00	\$	7,500.00
23	HMA MILING PAVEMENT (2"THICK)COMPLETE	6859	SY	\$	4.00	\$	27,436.00
24	HOT MIX ASPHALT 9.5M64 SURFACE COURSE (1 1/2" THICK) COMPLETE	118	TON	\$	160.00	\$	18,880.00
25	HOT MIX ASPHALT 19M64 SURFACE COURSE (2 1/2" THICK) COMPLETE	158	TON	\$	150.00	\$	23,700.00
26	HOT MIX ASPHALT 19M64 SURFACE COURSE (3" THICK) COMPLETE	48	TON	\$	300.00	\$	14,400.00
27	DENSE GRADED AGGREGATE BASE COURSE ( 4" THICK) COMPLETE	3283	SY	\$	7.00	\$	22,981.00
28	3# NJDOT #10 STONE, COMPLETE	21624	SF	\$	1.50	\$	32,436.00
29	GEOTEXTILE FABRIC	2403	SY	\$	5.00	\$	12,015.00
30	TRAFFIC SYMBOLS	7	EA	\$	60.00	\$	420.00
31	PARKING SIGNS	5	EA	\$	200.00	\$	1,000.00
32	TIMBER WHEELSTOPS	18	EA	\$	100.00	\$	1,800.00
33	4" STRIPING	1542	LF	\$	2.00	\$	3,084.00
34	remove existing trail	2498	LF	\$	10.00	\$	24,980.00
35	GUIDERAIL RELOCATION	95	LF	\$	50.00	\$	4,750.00
36	GRADING	1	LS	\$	294,000.00	\$	294,000.00
	TOTAL						791,614.03